2o 2hENAHIE T 103FEREMBHEESTEDE L 100FI0AHHTEE .

#E A TS Hxag: 105% 118 148
Eam/zs | SEPER | e mem |maarE| meespenR|  ma
i Bh & %R
ZHE/MbE|  $600,000 $600, 000[ 100, 00% 0
ZHE/MILE $600, 000 $600, 000 100. 00% $0
ZHE/1EHE $600, 000 $600, 000 100. 00% $0
@B/ R E $600, 000 $600, 000 100. 00% $0
B/ $100, 000 $100,000] 100, 00% 0
48z $2,500, 000 $2, 500, 000 100. 00% $0




2o 2hE NAHE T 104FEREMBHEESTEDE S 100FI0AHHTEE .

HWEAN TS WxAHE: 100+ 11 18
Eam/zs | SEPER | e mem |maairk| m@esnenR| B
i Bh &R
ZHE/MBE|  $600,000 $580,555|  96. 76% $19, 445
ZHE/MILE $600, 000 $600, 000 100. 000% $0
ZHE/1EHE $600, 000 $565, 848 94. 31% $34, 152
G/ R E $600, 000 $598, 630 99. 7% $1, 370
B/ $100, 000 $99,877] 99, 88% $123
48z $2,500, 000 $2, 444, 910 97. 80% $55, 090




2hH ZHENAWIE T10FERX IR BRI LEEHESL | 100FI0 miTEE R

#E A TS Hxag: 105% 118 148
Eam/zs | SEPER | e mem |maarE| meespenR|  ma
i Bh & %R
ZHE/MbE|  $600,000 $179,437]  29.91% $420, 563
ZHE/MILE $600, 000 $504, 896 84. 15% $95, 104
ZHE/1EHE $600, 000 $0 0.00% $600, 000
@B/ R E $600, 000 $128, 800 21.4°7% $471, 200
B/ $100, 000 0 0. 00% $100, 000
48z $2, 500, 000 $813, 133 32.53% $1, 686, 867




